CHNT Mounting dimensions of fixed type
NH18 Switch Disconnector

Please Note:Electrical equipment should be installed, operated, serviced, and maintained only

Phase barrier w2

by qualified personnel.No responsibility is assumed by Chint for any consequences arising o . I
out of the use of this material. 2 0. 1:gd ey
A qualified person is one who has skills and knowledge related to the construction and [0 ¥€ U 20 ] N4
operation of electrical equipment and its installation,and has received safety trainning to - " —

recognize and avoid the hazards involved.

2 4Bafe K 920 @ a
L1 hig
NHI8-125 + 250 . 400 . 630 (mm)
(L)AL RO (R R GG 60 (|G (U1 (T
Cables terminals 18125 TOYAF {70 (7906 (185070 19 ) 30 { 60 |30 {112 (663 46 | % (30 1% {100 )24 35
PP \H18-250 3T Y078 (80 (881106 (20 )0 () %5 | T0 Y51 (o a0 {5 1105 {140 )23
ﬁ% T&';‘;e %Qdoo f,flﬁl)‘c SIR-A00 DHISHGR0 | 25 (480 {000 03 (168 {26 )24 (22{ 9 ) %0 (100 {200 114 (8T | (45 {10185 [3L.3
3p 2 (M5x65) 6(M6x16)
NH18-125 3 6
m 4(015x65) 8 (M6x16)
3P 2 (M5x75) 6 (M8x20)
NHI8-250 3 11
p 1015x75) 8 (18x20)
NH18-400 3p 4(M5x90) 6 (M10x30)
NHI8-630 s 6 (M5x90) 3 8 (10x30) 40

-1- CHNT




e operation of the switch disconnector

Warning: Forbidden wet hand
to operate the switch disconnector

CHNT

-3-

Modes of down-lead
Upper

Lower

Insulation plate or insulation| white or colored
ve@ | A B connection terminal (mm metal plate (mm)
Cl —— [ (1 (2
T | 5 | 30 30 3 3%
NH18-125 <600 10 30 30 35 35
=600 20 30 30 35 35
<440 5 30 30 35 35
NH18-250 <600 | 0 |10 30 30 3% 3%
2600 20 30 30 35 35
<440 5 30 30 3 35
NHI8-400  \H18-6. <600 10 30 30 35 35
=600 20 30 30 35 35

CHNT

-4-




Warning:when voltage = 500V, extended terminal cover
should be mounted.

Modes of connection
NH18-125 + 250 . 400 .

630

Phase barrier

a(mm) b (mm) ¢ (mm) d(mm) | e(m) |[fO+ m)
NH18-125 4 |7<bh<10) | <8 | 26,5 15 6
NH18-250 5 M<h<1)|S 85| @85 25 11
IS0 g Nch<in| <5 | w05 | 2 | 10
S0S X .0
NH18-630
Please check the torque of the connect screw regularly

CHNT




<
= =
=] :
(=3 = =
S = = |
g ES = |
= = = =
= =2 =2 s |
& Elerramrs
= < |EE8 & |
= = = =
5} = o~ |
o0
= = 3 |
o = o |
<5} = ac
g S 2 | s =
™ ., = ) o | .N
. ~ = =] — h
= s sles]| = I | O
S = S B |
=] <
! of® S
= v, = g ~ |
= 3 s s
cles | oS
S = Z
= C 2| = B =
= \U7— AR s =
o \ V£ @ | o =2 =
= \ Sles LS =
~ |\ o o= =]
ey \ \ — Nt = o
et = \ < | B8 v .2 =
S| 5=
o = SR
= 2 S 2
S
—
()
D
oo
<
)
!
/ ~
® | |
—_ _
g 68
=]
ST L
»
99
o O
|
-H_H_H/ﬁ.u _ _ _m
o) ® s
_ %
§or <
. 3 &
GGz -
w©
<5} s ImWI JARY Z 68
= I N
— /¢
= 75
=
(=}
2
- /\I/
= o
<
o5 2 =
+— — [N} O_O
= ! & s}
o X = =
= = = ,




NHI8 Accessories & Installation

the SHT and UVR

CHNT

AX | Auxiliary Contact
AL | Alarm Contact

SHT | Shunt Release

UVR | Under-Voltage Release

Press the test-button when installing

Make sure the surface of release
is aligned with the cover

Connection of bare cable

NH18-125

NHI8-250

8Nem

12N *m

CHNT

NHIS-125 | 97 | &7 5
NHIS-250 | 110 | 66 8
wisoo | "
NH18-630 >

-10-






